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1. Constant plasma density ==> No net scatter

2. TX-matched density fluctuations enhance net scatter

3. Moving fluctuations (=waves) ==> spectral lines

5. The lines are broadened by damping ==> IS spectrum

4. Two classes of waves ==> 2+2 line positions 
(IL & PL)
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Plasma waves
2-component plasma: electrons (e) and ions (i)

Large mass difference ... what do we expect?

Fast charge disturbance ==> 
Only electrons have time to respond.
Electrons oscillate (in the mean) like in
pressure wave, ions form an unmoving
background. (e.a. wave).

Slowly oscillating driving force ==> 
Ions oscillate like in pressure wave,
electrons follow to ensure
charge neutrality
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Broadening of the spectral lines due to collisionless (Landau-) damping of 
the plasma waves.
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